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300,000& =« 33H 9,900
ORN2Y JI2 S&HI(33Y)
160,000& * 33%H 5,280
Ogzaesy 14,040
— U (2, AEANEE)
60,000& = 2% = 117 14,040
OgBt==&H| 27,200
— ROAHIAIAE AU (2, ASAEER)
500,000& = 123 6,000
— &Moot e e =22
350,000& = 12& 4,200
— &0 dXt 40,000 * 5CH = 128 2,400
—2EAE M2 Y =22
800,000& « 12& 9,600
—AHANE SEEE ¥ ASBEE =2
1,000,000& * 53| 5,000
02 =224l 109,815 108,914
Oz&22= & HA 55,000
—ENES RERS 100,000& * 12& 1,200
— gyl (agordae 2 1)
200,000& * 23 400
—dIIRa 3,100,000& = 12& 37,200
—&ot=k 23 1,000,000& * 12& 12,000
—|UYEs S SHRS 350,000 * 123 4,200
oozl 1,426
—24 g8 1,063& * 4004 426
—Xeladsd 50,000& * 20= 1,000
OA & EHl =Xl 21,920
—ZFH ¥ ZEd |X2el
70,000& = 100CH 7,000
— S8 sz 900,000& =« 4CH 3,600
— 48 Sz 9,400
22(82x) 3,000,000& = 14 3,000
ME st~ (HBX)
2,000,000& = 14 2,000
aHE A 200,000& * 1202 2,400
sdols 2 (E2X)  2,000,0008 * 14 2,000
—3&E4A sX2el 160,000& * 128 1,920
OXtg =Xl 31,469
— g sz 1,000,000& * 11CH 11,000
— g 2F4 1,163& = 1,600£ * 1104 20,469
202 oddl 76,800 76,800
02 X 76,800 76,800




AN seIIsHE
H: HH2IAH(sLII=4H)

o2 J2ddl(sgllsdd) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O ¥yl 200,000 = 32¥ * 128 76,800
203 R =&Y| 14,520 14,520 0
01 J|22I PR =&Y 5,000 5,000 0
OJ&#2d 28| 5,000,000 5,000
02 d 3 R =AY 1,720 1,720
OFJAIMMERF=AH| 40,000& * 43 1,720
04 ENSIHRF=EY| 7,800 7,800
ORANSIILFXHI(282A) 7,800
L EEETICE ST
300,000& « 12& 3,600
—PNSHUS A (ASHY D)
350,000& « 12& 4,200
405 XHabF SHI 9,250 18,400
01 A&t =S F SHI 9,250 18,400
O A 22 1,000,000& = 24! 2,000
OZFH #*¢ 1,000,000& = 3CH 3,000
OR2UH 7¢ 300,000& * 5CH 1,500
OASXY S A 2] 250,000& * 11CH 2,750




